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2016/12 New Cisco 642-035: Troubleshooting Cisco Unified Computing (DCUCT) Exam Questions Updated Today! Free Instant
Download 642-035 Exam Dumps (PDF & VCE) 175Q& As from Braindump2go.com Today! 100% Real Exam Questions! 100%
Exam Pass Guaranteed! 1.[2016/12 New 642-035 Exam Dumps (PDF & VCE) 175Q&As Download:
http://www.braindump2go.com/642-035.html 2.|2016/12 New 642-035 Exam Questions & Answers:
https://1drv.mg/f/sl AvlI 7wzKf6QBjgTXBG4AXY yqC6-T8u QUESTION 1Which piece of information does the FSM provide? A.
the current task and statusB. a collection of blade statisticsC.  the last user to access the resourceD. alist of faults currently
suppressed by the Cisco UCS Manager Answer: A QUESTION 2Which of these does not have an FSM associated with it? A.
vCenter connectionB. service profileC. server hardwareD. service profile templates Answer: D QUESTION 3Refer to the

exhibit. Which tab would be the most useful for troubleshooting a blade discovery problem?| s " ot [ romtnypoio [ rur, pronts | 7ot | sitones |
B e s Cl b ) STl

-

B. EventsC. FSMD. ServersAnswer: C QUESTION 4RBAC isamethod of restricting access for a particular user on which
two of these? (Choosetwo.) A. rolesB. realmC. localesD. RADIUSE. LDAP Answer: AC QUESTION 5A customer is
configuring LAN pin groups in a Cisco UCS domain. The customer has two fabric interconnects and would like to associate the pin
group with only one interconnect. Which statement about this configuration istrue? A.  In a system with two fabric interconnects,
you can associate the pin group with only one fabric interconnect, and the other fabric interconnect will not be usable.B. Ina
system with two fabric interconnects, you can only associate the pin group with both fabric interconnects; you cannot associate the
pin group with only one fabric interconnect.C.  In a system with two fabric interconnects, you can associate the pin group with only
one fabric interconnect or with both fabric interconnect. Thisis a supported configuration.D.  This configuration is not supported in
a Cisco UCS domain. Answer: C QUESTION 6A customer is configuring an upstream disjoint Layer 2 network in a Cisco UCS
domain. So far they have configured the following:- Fabric Interconnects are in switching mode.- Thereis symmetrical
configuration for high availability.- There are no overlapping VLANSs.Each vNIC is communicating with one disioint Layer 2
network. After validating the above, the customer is still having issues with network connectivity. What is the issue? A.

Overlapping VLANs are allowed in adisioint Layer 2 network.B. The vNIC configuration is incorrect and must communicate with
two or more digoint layer 2 networks.C.  The fabric interconnect must be in end-host mode for a disjoint Layer 2 network.D.
Asymmetrical configuration for high availability needs to be configured. Answer: C QUESTION 7A customer is configuring a
network control policy in a Cisco UCS domain. The network control policy configures the network control settings for the Cisco
UCS domain, including which three of these? (Choosethree.) A.  how the VIF behaves if no uplink port is available in end-host
modeB. the action that the Cisco UCS Manager takes on the remote Ethernet interface, vEthernet interface, or vFibreChannel
interface when the associated border port failsC. Layer 2 switching on the fabric interconnectD.  whether MAC registration
occurs on aper-vNIC basis or for all VLANSE. the end-host mode setting on the I/0 module Answer: ABD QUESTION 8A
customer is troubleshooting QoS in a Cisco UCS domain due to high packet drops in the network. The customer has configured the
vNIC and associated QoS policy, and changed the MTU from 1000 to 1200. Packet drops still exist. What is the cause of thisissue?
A. TheMTU specified here must be greater than the MTU specified in the associated QoS system class. If thisMTU valueisless
than the MTU value in the QoS system class, packets may be dropped during data transmission.B. The MTU specified here must
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be equal to or less than the MTU specified in the associated QoS system class. If thisMTU value exceeds the MTU value in the QoS
system class, packets may be dropped during data transmission.C. The MTU specified here must be less than the MTU specified in
the associated QoS system policy.If thisMTU value exceeds the MTU value in the QoS system policy, packets may be not be
dropped during data transmission.D. The MTU must be optimized and should be changed to fc with the CLI command set mtu fc.
Answer: B QUESTION 9A customer is configuring the dynamic vNIC connection policy in a Cisco UCS domain. Why is the
dynamic VNIC policy required? A. Itisonly required if you are configuring VM-FEX.B. Itisonly required if you are
configuring Adapter-FEX.C. Itismainly for the Cisco UCS Manager to communicate with the fabric interconnect.D. Itis
required for Cisco UCS instances that include servers with VIC adapters on which you have installed VMs and configured dynamic
VNICs. Answer: D QUESTION 10What is the default number of dynamic vNICsthat is specified by the Cisco UCS Manager when
creating a dynamic vNIC connection policy? A. 54B. 128C. 256D. 257 Answer: A 'RECOMMEND!!!
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